[image: image1.wmf]ACQ. Xmin, Xmax

Dx = (Xmax-Xmin)/40

Ymin = f(Xmin)

Ymax = f(Xmin)

i = 1

x = Xmin+Dx

i < 40

y = f(x)

Se y<Ymin, 

memorizza y in 

Ymin.

Se y>Ymax, 

memorizza y in 

Ymax

Fy = 80/(Ymax

-

Ymin)

i = 0

x = Xmin

i < 40

y = f(x)

N = (y

-

Ymin)*Fy

i++

x = x + Dx

FINE

i++

x = x + Dx

Scrivi N-1 blank 

e una X e poi vai 

a capo

SI

NO

SI

NO

[image: image2.wmf]ACQ. Xmin, Xmax

Dx = (Xmax-Xmin)/40

Ymin = f(Xmin)

Ymax = f(Xmin)

i = 1

x = Xmin+Dx

i < 40

y = f(x)

Se y<Ymin, 

memorizza y in 

Ymin.

Se y>Ymax, 

memorizza y in 

Ymax

Fy = 80/(Ymax

-

Ymin)

i = 0

x = Xmin

i < 40

y = f(x)

N = (y

-

Ymin)*Fy

i++

x = x + Dx

FINE

i++

x = x + Dx

Scrivi N-1 blank 

e una X e poi vai 

a capo

SI

NO

SI

NO


� EMBED ABCFlow  ���





ALGORITMO PER TRACCIARE IL GRAFICO DI UNA FUNZIONE








_1067764867

